STROMBERG-CARLSON
TELEPHONE SETS AND COMPONENTS

T-8375
ISSUE 1

PARTS IDENTIFICATION AND LIST

S-C 1704-3AT AND 1704-3BT

3-LINE TONE-DIAL® TELEPHONES

S-C 1704 3-Line TONE-DIAL Telephone

1. INTRODUCTION
a. This section covers identification of parts and
parts lists for the following telephones:
S-C 1704-3AT — 3-Line Desk with spade-ended
line cords.
S-C 1704-3BT — 3-Line Desk with plug-ended
line cords.
b. This section is new.

2. RELATED SECTIONS

T-8300 Connections and Maintenance, 1704-3AT
and 1704-3BT.

T-8975 Maintenance, Parts Identification and List,
Pushbutton Key Assemblies.

T-9100 Maintenance, Parts Identification and List,
S-C 35A3 TONE-DIAL.

T-8951 Maintenance, Parts Identification and List,
No. G-3 Handset.

3. RINGERS

a. S Series 20A, Straight-Line Ringer —
702100-244,

b. S Series 20J, 60 Hz Ringer — 702100-260.

c. No. 95 Tone Ringer — 702100-488.

d. No. 96A Common Audible Signal — 202100-
155.

e. SC 687 (96A) Ringer Box External Mount —
200076-755.

f. SC 687 (T) Ringer Box, External Mount —
200076-795.

g O-E Buzzer — 206289-681.

h. No. 7 Buzzer Mounting Package Assembly —
206289671, The No. 7 Buzzer is not included in the
assembly.

i, S Q-20 Buzzer.

J. SC 687 (CR) 824 V ac
External Mount — 294003-359.

k. SC No. 2A Buzzer Assembly — 206014-621.

Control Relay,

TCI Library www.telephonecollectors.info



4. TELEPHONE PARTS LISTS

Order individual parts for the 1704-3AT and
1704-3BT telephones from the following lists. See figure
1, Identification of Parts.

COLOR COMPONENTS FOR 1704-3AT AND 1704-3BT TELEPHONES

ITEM
NO. DESCRIPTION COLOR TELEPHONE USED ON STOCK NO.
1 Housing Ivory 1704-3AT, 1704-3BT 303120-506
Black 1704-3AT, 1704-3BT 303120-509
White 1704-3AT, 1704-3BT 303120-510
Beige 1704-3AT, 1704-3BT 303120-514
Green 1704-3AT, 1704-3BT 303120-522
Gray 1704-3AT, 1704-3BT 303120-523
*2 Handset Ivory 1704-3AT, 1704-3BT 200737-106
Black 1704-3AT, 1704-3BT 200737-109
White 1704-3AT, 1704-3BT 200737-110
Beige 1704-3AT, 1704-3BT 200737-114
Green 1704-3AT, 1704-3BT 200737-122
Gray 1704-3AT, 1704-3BT 200737-123
3 Line Cord Black 1704-3AT 200319-809
Spade-Ended Beige 1704-3AT 200319-814
Green 1704-3AT 200319822
Gray 1704-3AT 200319-823
Line Cord Black 1704-3BT 200319-909
Plug-Ended Beige 1704-3BT 200319914
Green 1704-3BT 200319-922
Gray 1704-3BT 200319923

TCI Library www.telephonecollectors.info




COMMON PARTS FOR 1704-3AT AND 1704-3BT TELEPHONES

ITEM NO. DESCRIPTION STOCK NO.
4 Bezel 300972-251
5 Face Plate 303948-318
6 Facemat, white 303980-731
7 Facemat Package Assembly 206289-531

Facemat, Blue 300980-741

Facemat, Green 300980-751

Facemat, Gold 300980-761

Facemat, Silver 300980-771

Designation Cord, Lamp Shield 300979911

Station No. Card 300001-911
8 Base Assembly 206014-541
9 Signal and Recall Switch Assembly 206014-501
10 Hookswitch Assembly 200129-599
*11 395A Key Assembly 206011-501
*12 S-C 35A3 Dial Assembly 200052-921
13 Network Assembly 206013-391
14 Terminal Board Assembly 206014-511
15 Lever Plate 300973-271
16 Connecting Plate 300973-281
17 Connector Plug (female) 304146-951
18 Connecting Rod (long) 300973-291
19 Connecting Rod (short) 300973-301
20 Spring 300971061
21 Shaft 300971-681
22 Hook 300977691
23 Stop Plate 300980-191
24 Bearing 300973-311
25 Indexing Pin 300973-731
26 Key Mounting Bracket 300971-711
27 Dial Mounting Bracket 300980-121
28 Network Mounting Bracket 300980-131
29 Housing Bracket 300971871
30 Spacer 300973-701
31 Cable Clamp 540201-005

TCI Library www.telephonecollectors.info




COMMON PARTS FOR 1704-3AT AND 1704-3BT TELEPHONES (Cont)

ITEM NO. DESCRIPTION STOCK NO.
32 Housing Clip 300971861
33 No. 348 x 1/4 RHIMS Screw 501252-000
34 No. 440 Screw (Special) 300974461
35 No. 440 x 3/16 BHIMS Screw 502172000
36 No. 6-32 x 3/16 PHIMS (SEMS) Screw 213821000
37 No. 6-32 x 1/4 PHIMS (SEMS) Screw 540383-345
38 No. 6-32 x 5/16 OHIMS Screw 503792000
39 No. 6-32 x 5/16 Thd. Cut Screw 300970-691
40 No. 6-32 x 5/16 PHIMS Screw 540135-346
41 No. 6 Washer 525532000
42 Manual Exclusion Package Assembly 204793891
43 No. 7 Buzzer Mounting Package Assembly 206289-671
Does not include buzzer, (not shown)
44 Polarity Guard Package Assembly 206290-561
(not shown)
* Notes, 1, For breakdown of 3954 Key Assembly see T-8975, Maintenance and Parts

Identification and List, Pushbutton Key Assemblies.

2. For breakdown of S-C 3543 TONE-DIAL see T-9100, Maintenance and

Parts Identification and List, S-C 3543 TONE-DIAL.

3. For breakdown of the No, G-3 Handset see T-8951, Maintenance and Parts

Identification and List, No. G-3 Handset.

TCI Library www.telephonecollectors.info




TCI Library www.telephonecollectors.info

Figure 1. Identification of Parts, 1704-3AT and
1704-3BT.

Page 5





